






























1 
 

Dock materials for 2024 updated kayak marina configuration 
 

 

10' x 60' Walkway.   W-1 details 

• 10'x60' galvanized steel frame structure. Main side and end beams formed from 6" C channel 
@8.2# per foot.  

• web Intermediates on 4' centers formed from 3" C channel @ 5.0 # per foot.  
• 60' Length intermediates on 18" centers formed from 2"x2"x 3/16" angle.  
• 60' length hand railing on both sides of walkway formed from 1.25" galvanized schedule 40 pipe.  
• dock hinge at walkway formed from 2" galvanized schedule 40 pipe, 1.5" pipe hinge pin 120" 

long with galvanized 3/8"x 2.5" carriage end bolts to secure pipe in place . 
• 14" pneumatic  wheel attached to 4" C channel main frame of walkway. 2" schedule 40 pipe axle 

and wheel hubs. 1/2" x 1.5" galvanized hex bolts, lock washers, nuts to attach wheel set. 
• Treated lumber 2"x 4" "sleeper" boards bolted to 2"x 2"x 3/16" angle intermediates  with 3/8"x 

2.5" galvanized carriage bolts for top deck board to screw into. 
• 2"x6" deck boards screwed into "sleeper" 2"x4" boards  with 2.5" long deck screws. 
• All welded in field areas treated with cold galvanizing compound. 
• 3/8" galvanized guy cables , turnbuckles securing walkway lateral swing to preserve walkway 

hinge. attachments in front of float closest to land and securing to either end of 20' wide main 
covered dock. 

• There are six, 4'x8'  rectangular  frame sponsons attached to the 4" C channel main frame, The 
sponsons are formed from 2" x 1/4" galvanized steel angle iron welded to the bottom of the 6" 
C channel.   

• The six  4'x8'x16" encapsulated floats are placed parallel  to the 60' length walkway, attached to 
the 2"x 1/4" angle iron frame sponson by 3/8"x 4" galvanized carriage bolts, washers, nuts. 

 

 

10' x40' Walkway extension for shallow water use.  W-2 details 

• 10'x40' galvanized steel frame structure. Main side and end beams formed from 6" C channel @ 
8.2 # per foot.  

• web Intermediates on 4' centers formed from 3" C channel @ 5.0 # per foot.  
• 40' Length intermediates on 18" centers formed from 2"x2"x 3/16" angle.  
• 40' length hand railing on both sides of walkway formed from 1.25" galvanized schedule 40 pipe.  

 



2 
 

• dock hinge at walkway formed from 2" galvanized schedule 40 pipe, 1.5" pipe hinge pin 120" 
long with galvanized 3/8"x 2.5" carriage end bolts to secure pipe in place . 

• 14" pneumatic  wheel attached to 4" C channel main frame of walkway. 2" schedule 40 pipe axle 
and wheel hubs. 1/2" x 1.5" galvanized hex bolts, lock washers, nuts to attach wheel set. 

• Treated lumber 2"x 4" "sleeper" boards bolted to 2"x 2"x 3/16" angle intermediates  with 3/8"x 
2.5" galvanized carriage bolts for top deck board to screw into. 

• 2"x6" deck boards screwed into "sleeper" 2"x4" boards  with 2.5" long deck screws. 
• All welded in field areas treated with cold galvanizing compound. 
• 3/8" galvanized guy cables , turnbuckles securing walkway lateral swing to preserve walkway 

hinge. attachments in front of float closest to land and securing to either end of 20' wide main 
covered dock. 

• There are four, 4'x8'  rectangular  frame sponsons attached to the 6" C channel main frame, The 
sponsons are formed from 2"x 1/4" galvanized steel angle iron welded to the bottom of the 6" C 
channel.   

• The four, 4'x8'x16" encapsulated floats are placed parallel to the 40' length walkway, attached 
to a 1.25" schedule 40 steel pipe frame sponson by 3/8"x 4" galvanized carriage bolts, washers, 
nuts. 

 

 

ADA aluminum end ramp on walkway.  A-1 details 

• 10' wide and 12' long ADA ramp hinged to end of walkway formed from 6061 T-6,  4" channel 
frame with  6061 T-6  2"x2"x 3/16" intermediates @ 18" on center. 

• 3/16" thick Aluminum  6061 diamond tread surface cover to be welded to the 4" channel frame 
and 2"x2"x 3/16" bottom intermediates.  

• ADA ramp hinge at walkway formed from 2" galvanized schedule 40 pipe, 1.5" pipe hinge pin 
120" long with galvanized 3/8"x 2.5" carriage end bolts to secure pipe in place . Hinge assembly 
on ADA ramp side formed from 6061 T-6 aluminum schedule 40 pipe welded to the 4" 
aluminum channel outer frame. 

 

 

20'x30' Covered dock area.  C-1 details 

• 20'x30' hot dipped galvanized frame structure formed in monolithic  box truss design from 
1.5"x 1.5"x 3/16" angle. 

• Walkway hinge on center of 20' wide land side of frame. 3" C channel @ 5.0 #, 2" schedule 
40 pipe hinge that mates to same on end of 40' walkway. 



3 
 

• roof column supports formed from 2" galvanized schedule 40 pipe, 10' 6" long, welded on 7' 
6" centers to top of perimeter of lower box truss frame.  

• 20' wide x 30" tall Roof rafters will be formed from 2"x 2"x1/8" galvanized square tube steel. 
Standard roof truss design. 

• Roofing material is  26 gauge galvalume R panel, screwed on 12" centers to 2"x2" square 
tube roof rafters. 

• Roof is a 12/2 pitch,  gable style design 13'6" high off deck at apex and 10'6" at drip line.   
• Treated lumber 2"x4" "sleeper" boards bolted to top of steel box truss frame on 16" centers 

to facilitate 2"x6" decking boards to be screwed to. 
• 2"x6"  Deck boards screwed into sleeper boards with 2.5" long deck screws. 
• The six, 4"x8"x12" and four, 4"x8"x16" encapsulated floats are bolted to the lower 

galvanized steel box truss frame with 3/8"x4" galvanized carriage bolts, washers, nuts. 
• All welded in field areas will be coated with cold galvanizing compound.   

 

 

10'x6' Staff hut.  S-1 details 

• 10'x6' hot dipped galvanized frame structure formed in monolithic  box truss design from 
1.5"x 1.5" x 3/16" angle. 

• 2"x4" treated lumber wall framing @ 16" on center, sheathed in zip system and Hardie panel 
exterior siding bolted to lower truss frame.  

• Standard shed roof design to cover Staff hut with 2"x6" treated lumber roof rafters @ 16" on 
center, sheathed in zip system decking. 

• Roofing material is  26 gauge galvalume R panel, screwed on 12" centers to roof rafters. 
• Roof is a 12/2 pitch, shed style design  starting under the side of main gable roof  and ending 

at  8' height on drip line.   
• Treated lumber 2"x4" "sleeper" boards bolted to top of steel box truss frame on 16" centers 

to facilitate 2"x6" decking boards to be screwed to. 
• 2"x6"  Deck boards screwed into sleeper boards with 2.5" long deck screws. 
• The two, 4"x6'x16" encapsulated floats are bolted to the lower galvanized steel box truss 

frame with 3/8"x4" galvanized carriage bolts, washers, nuts. 
• All welded in field areas will be coated with cold galvanizing compound. 

 

 

80'x40' low level uncovered dock area.  L-1 details 

• Sixteen, 10'x20' Merco Marine Engineered dock panel sections (Heavy duty style), 
formed from treated 2"x8" lumber, hot dipped galvanized framing connections and 



4 
 

braces, galvanized steel float attachment fixtures.  Two rows of 10'x20' sections that 
are attached with hot dipped galvanized D ring hinges. Constructed to a low water 
design to provide for rowing/ paddling  craft. 

• The sixteen hinge connected lower dock panel structure is connected to the upper 
covered dock structure with four hot dipped galvanized articulating schedule 40 pipe 
hinges. 

• One, 6'x20' Merco Marine Engineered dock panel section (heavy duty style) formed 
from treated 2"x8" lumber, hot dipped galvanized framing connections and braces, 
galvanized steel float attachment fixtures. This section is attached to the upper 
covered dock lower steel frame with articulating galvanized schedule 40 steel pipe 
hinges  and connected to the side of the lower sixteen, 10'x20'  Merco Marine lower 
floating dock sections with hot dipped galvanized D ring hinges. This section will 
accommodate a stand up paddleboard storage cage next  to the Staff hut off the side 
of the covered dock area. 

• The combination of these hinges will provide for movement when dock structure is 
subjected to high winds and waves to move independently to prevent breaking 
structural components. 

•  Main beams constructed from 2"x8" treated lumber formed in a box grid with hot 
dipped galvanized connections sandwiched to either side of each beam, all hot 
dipped galvanized steel connections and fixtures are through bolted the wood 
beams with 1/2" galvanized carriage bolts, lock washers, nuts. 

• 2"x8" wood beams are on 24" centers. 
• 2"x1/4" flat aluminum bolted to top of 2"x8" wood beams.   
• Encapsulated floatation Installed between 2"x8" wood beams, secured and bolted to 

2"x 1/4" aluminum with 3/8"x4" hot dipped galvanized carriage bolts. 
• Top decking formed from plastic composite deck 2x6 boards. Decking screwed into 

2"x8" treated wood beams with stainless steel 2.5" long screws. 

 

 

5'x6' Deck Ramp.  R-1 details 

• 5'x6' deck ramp with handrail to facilitate moving from upper covered deck to 
lower uncovered deck. 

• Main frame formed from galvanized 3" C channel @ 5.0# and 2"x2"x 3/16" angle. 
• hinge end of ramp that attaches to upper dock frame will be formed from 3"C. 
• Lower end of ramp that tapers to lower dock frame will be formed from 3" C. 
• sides and intermediates of 16" centers will be formed from 2"x2"x 3/16" 

galvanized angle. 



5 
 

• There are five, 2x4 treated lumber "sleeper" boards attached with 3/8"x 2.5" 
galvanized carriage bolts, washers, nuts, to the sides and inner 2"x2" angle.  

• The top decking is plastic composite, attached to the "sleeper" 2x4's with 
stainless steel 2.5" long deck screws.  

• Four 4" tall rubber wheels are attached to the bottom of the 2"x2" angle and 
facilitate movement of the ramp when hinged dock section will move in high 
wave conditions. 

• 1.25" hot dipped galvanized schedule 40 pipe handrail to one side welded to 3" C 
on lower ramp frame. 

• The ramp hinge is formed from four, 3/4"x 4"long hinge pins.    
• All welded in field areas are treated with cold galvanizing compound. 

 

 

Dock Anchoring.  DA-1 details     

• Dock structure is secured with a four corner winch system. 
• One drum winch to each corner of dock.  
• Two winches, down guide pulleys mounted to lower frame with 1/2" Stainless 

steel IWRC 6x19 cables attaching to steel shore mount locations drilled into rock 
at the 681 elevation. 

•  Two winches, down guide underwater pipes and pulleys with 1/2" Stainless steel 
IWRC 6x19 cables attaching to four, 3000# concrete rectangular blocks located 
underwater in front of property.   

• The stainless underwater anchor lines are from the winches have 5" ID 
galvanized pipe down guides  with pulleys at bottom of pipe to keep the cables 
well under the water from swimmers or boats. 

• There are two 5" ID galvanized schedule 40 pipe "spud" anchor poles mounted 
with galvanized pipe sleeves and winches which raise and lower when dock is 
moved. These pipes augment the four corner winch system and act as a 
secondary anchor system if there was a cable breakage. 

 

 

Flood and low water dock status. 

• When Lake Travis would be in the flood pool above 681 msl. the dock has 
ample mooring cable on winches to rise straight up above the 681 location 
on property to 721 msl. Dock maintenance would be to loosen both shore 
winches and underwater line winches to achieve placement straight up, not 



6 
 

continuing back into the property where trees are located. Walkway 
completely floats, does not need land for support.  

• Dock is designed to go aground if needed when lake would go below 620 msl.  
underwater pipe down guides for water side winches can be unbolted and 
removed. dock structure has no large underwater braces that would be 
damaged by going aground. All power boats or vessels tied to the dock that 
would impede going aground would be removed.    

• The topography is very flat, sandy, and level when water is low.  

 

 

Navigation lights and electrical.  NF-1 details 

• 220V Shore power to covered dock area and Staff hut. 
• Navigational lights are solar and will light when power is disrupted, four lights total on 

corners of the lower panel dock area. 

 

 

Fire Extinguishers.  NF-1 details 

• There will be four fire extinguishers, one on each of the 20' side of the covered dock area 
where the ramp access is to the lower launching deck area. One attached to the Staff hut, 
and one attached to the hand railing on center of walkway.  

 

     



20'

8'

3'

f f f f f f

f f f f ff

12 12 12 12

1212121216 16

1616

8'

14'-6"

10'

ff
1616

4'

1' 1'-6"

1'
4'

1'
8'

6'

Upper covered dock

float layout

top/down view

side view front view

6'x10' Staff hut

20'x30'

Covered dock float layout
8-24

1499 graveyard pt. rd. 
Dennis Davis
Kayak marina 715

C-1 / S-1

7'-6" 7'-6"

7'
10'-6"

1'

10'

20'

1'

walkway
hinge

6'

lower dock

SUP storage cage

10'

4'

floats floats

staff
hut

6'

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



side view

top/ down view

wheels

1.25 pipe railing

40'

connection

hinge

1'-6"

10'
5'

Kayak marina 715
Dennis Davis
1499 graveyard pt. rd.
walkway extension
8-24

W-2

4'

12' 8' 12'

4'

5' 3'-6"

1'-6"

floatfloat

float

40' walkway extension

floatfloat

float float

ADA
aluminum
ramp

ADA

aluminum
ramp

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



side view

wheels

1.25 pipe railing

60'

top/ down view

10'

5'

W-1

4'

12'

5'

Hinge @
covered dock

3'-6"

1'-6"

60' walkway

floatfloat float

float float float

float floatfloat

1'-6"

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



Marina 715 
Dennis Davis
1499 graveyard pt. rd.
ADA ramp
8-24

10'

4'

4' 2'-1-15/32"

pipe

hinge

to walkway

continuous

Daimond tread top

Daimond tread top

Daimond tread top

1'-6"

1'-6"

Top/ down view 

Aluminum ADA ramp frame12'

A-1

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



top/ down view

5'

4'

4'-8-19/32"

20' hinge hinge

8'

2'-6"

6'

3'

10'
30'

ramp walkway

6'

staff
hut 8'

20'x30' upper covered dock

6'x10' Staff hut
steel foundation layout

front viewside view

3'-10-7/8"

C-1 / S-1

7'-6" 7'-6"

7'
10'-6"

1'

10'

20'
14'-6"

Kayak marina 715
Dennis Davis
1499 graveyard pt. rd.
Covered dock section
8-24

4' 2'-6"

floats floats

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



80'

40'

10'

40'

20'

6'

Dock configuation

boat side tie

boat side tie

10'

24'

3980 sq' of dock area 

Kayak marina 715
Dennis Davis
1499 graveyard pt. rd.
Dock configuation
8-24

Top/ down view

1000 sq' of walkway area

hutSUP cage

covered dock
walkway

30'

ramp

lower dock panels

10'

Kayak racks

Kayak racks

100'

60' + 40'
ADA
ramp

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



80'

Dock configuation

fire ext.

fire ext.

Navigation lights

Fire extengishers

fire ext.

lo
w
er
 
do
ck
 
pa
ne
ls

covered dock
fire ext.

40'

49'-2-7/16"

Kayak marina 715
Dennis Davis
1499 graveyard pt. rd.
Nav. light locations
Fire extenguisher locations
8-24

Top/ down view 

NF-1

(solar- Marine)

hutSUP cage

walkway

30'

ramp
40' 40'

10'

nav light nav light

nav light nav light

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.



80'

10'

6'

20'

20'

10'

co
ve
re
d 
do
ck

ar
ea

Lower dock panels

1- 6'x20'

Dennis Davis
1499 graveyard pt. rd.

Kayak marina 715

Top/ down view

2'

2'

6'-6"

40'

6'-6"20'

Framing layout

16- 10'x20'

Lower floating panel

8-24

15 floats per 10'x20' section

9 floats on 6'x20' section

87,150 # total float buoyancy for 17 panels 

Framing and flaot layout

L-1

CREATED USING CADSTD LITE FREEWARE FROM WWW.CADSTD.COM. NON-COMMERCIAL USE ONLY.






	1245 Electrical Plans.pdf
	1245 Location and Configuration Plans.pdf
	Insert from: "General Construction Plans with description.pdf"
	Sattva Dock materials
	20x30 covered dock float layout
	40 walkway extension
	60 walkway
	ADA ramp 2024
	covered dock steel foundation
	Dock configuration 2024
	Dock nav. lights and fire ext. location
	lower dock panel confuration
	Merco Marine 8x20 Layout1 (2)
	Merco Marine 12x20 Layout1 (1)


